
������� ���

�����	���
� �
��
� ��


��
�
���� �
�	���

�����������	 
���
��

���������� ����

����� ������	
	�

����� ���������	
� ��

�������� ������� �����
��



���� ������
�� �	
��� �
	 �� �	����



�����������

�����
	� �� �	�
���� v
���� ��	���� viii

�����
	� �� ���	��
�� �� ������� ��

�����
	� !� "��	�� 	�����#�
 
��	���$ #�%�&
��$ �� '	�� ��
��$ (�
#�)	��$ *�
����	%���
$ �+

�����
	� ,� -� �#���	�� ./�� ��$ �0�����$ �0��	0�$ ��$
(�
#�)	��$ *�
����	%���
$ �1

�����
	� +� -���'�
�� 2 *	�� �� (�
#�)	��$ 2 �	�����	��$
'�
����	%���
$ �
	 ����
�	��%$ ����
� ��

+��� ���	��$ � �3���$ �	
 -���3�	
 ����
��/���� 
#%
*	�� ��4 -��� �� ��
��	��$ ��
3��%���
$ �
	 -��#� 0�
"��	�
� ����
� ��

+��� -�
� �	�� #��	��
�� ����
�	���/ ����
� �� ��
 �/����

-���'�
��$ *	�� ��$ �5

�����
	� 6� -�	3���	�� ��
����� !!
6��� ��%��
��
 �	
 ��� -�	3���	�� ��
����� !+

�����
	� 1� �� /#
�0� ���	�
� ����
� �� � ����
�

-���'�
��$ *	�� ��$4 ���	�� �
	 �	'	�%���


#�������
�
 !7

�����
	� 5� � �#�����
�
 ,!

�
������
 -8� 9 �0����� Fisher - Kolmogorov �
	 �	 �/��	$ ���
����� '	
'	'%����� � ����� ,+

�
������
 :8� -��� �� �#	#�'�� ����$ ,7

�
������
 �8� ���	�� 
#�������
�
 �	
 �� .
#�
�	
�% (������
�� � �#
�� ����
 +!

�
������
� :	&�	���
��
 +1

iii





��;<-.-=� �

	�
����


9 
 ��2�������� ��� '	
����#	)%����� '��
� ���
	 ��
 �
	�%��2
�� � #	�% ��� � �������� #� '� &�������
	 �� �
����
�� 	�����#�
$�
- ��$ �	 '���$  #���� � �
��	� 
#% ��� 	�����#�
 �
	 '	
���� � 
#%
�	$ � #	��$ '���$ �� 	�����#�
 >#��� ��/��
��	? ��� %�	 '	
����/��
	
��� ����	�� ���� 
��
���	)%����$ ' �
�	��$ '	
'	�
���$ �� �0��	0��
#� ���'	�)� � �� ������	
 �� �/����
� �	 '���$ #
�
���� �� '	
����2
#�)���
$ ��� �	����%���� ������	
 >�
	 �
�
 � ��#�	
 ��� �����#�
 #� 
����	��
	? �
	 ���	 � '	
'	�
��
 �����
	 �� 
�
����@	���

�	 '	
����#	)%����$ '���$ ���
	 � #	�� �
������#	��$ �
	 �� �
�
2
����	��	�% ����$ ����
�
$ ��$ '���$ ���
	 
��0������ �� ����3� $ ���
� ��
�	�
� �� � ����
��$ >#��� �%�	
?� (
 � ����
�
 #� 
��	#��2
��#�/#� � 
 ��2���
���%����$ '	
����#	)%����$ '���$ #�	���� � 
#%

�
#� �%����$ &
����	
��$ 
#�	���$ �� �� ��� �� 
���3�	�$ '	�'���$
>#��� Rayleigh-Bénard convection?�

9 �#����� 3����
 ��$ 
 ��2��������$ ���	 &
�	���� ��
 3����' 2
�
�	�� � ����
�
 �� �� 	�����#�
 �
	 � ��#�� ���$ ��$ ��
� � ���	�%$
Ilya Prigogine� 9 #��	��%���� 
#% ��� ��� �
 ��	�� ��	$ :� 0���$ 
#%
�� '��
���
 �� �7,A ����	 �� '��
���
 �� �76A 
#% ��� Prigogine �
	
�� $ � �������$ �� � �#����	�
� �	$ ��3%'� $ 
#% �
 3����' �
�	��
� ����
�
 �� �� 	�����#�
� �� �� ��
��	�% �
3���
$ �
��	� 
#% ���
	�����#�
 �
	 �������
� bifurcation theory �	
 �
 
�
�/�� � ��� �#	2
���� ��$ �
����
��$� B9'� �� �7,+ � Prigogine ����  #������0�	 %�	
��
 �/����
 �� �� 	�����#�
 #���#
3�� �
 ��
�	���#�	���	 �� � 3�%
#
�
����$ �����#�
$ �
	 �#	����	 ��� �
����
�� 
�
�%��$�

- �� � � �3��� 
#�'���3��� 
��#
���$ 
#% ��� Rolf Landauer ��
�71+� � �#���$  #�����0� %�	 � #
�
���� ��$ ����	���$ �����#�
$ '��
���
	 ���	�� ��
 
�
��
�
 � �3��� �	
 �� ����	�� ���� �
	 %�	 ��#�	�$
'�� �#���� �
 �
3�����	 ��� �
����
�� #� �� �� �/����
 #���	�� �

&������
	� &
�	�����$ ��� � �#��	���� ��� ��	���	� ��$ ����	��$ ��2
��$� 
��� 3
 #��#�	 �
 3������	 � ���	�� �
 ' �
�	�� ��2	�����#�
$�
�
�%�
 
 �� �� �711 � Prigogine �	��3��� �� �� &�
&��� C%�#�� ���
"����
 �	
 �� � ��	����� �� ��	$ '	
����#	)%����$ '���$�

v



vi �� ��������

���� ���
��
 
 �� 3
 ����	��#�	��� �� �� 3����
 
#% � ����
2
�
 ���	�
� �
 �#��
 �#���/� �
 ���
���� � 
���3�	�$ #� �#���/�
�
 ��� � �$ 
#�������
 ���� �
�
����	��$ ���� ��
�	��$ �����$� �	
' ������$ ��� � �������� ��$ 3����' �
�	��$ ���
	 �#���$ #
��/��$
��� 3����
 �� ����
�	���/ ����
� ��� "����
� D
 �#	������3�/��
� ���$ �� � ����
�
 #� �#	'�	��/� � �� ���%���� 
���3�	
 Turing�
#� ���
��)��
	 �%�� ��$ /#
�0�$ '	
�����	�
� � 3�
� '	�� ��$ ���

��	'�
���� ���	�
� � �	
�� 9 
���3�	
 Turing �#���� �
 3����3��
�$ 
��
���	��%$ ���
0/ ������#�����$ 
#% �	
 ���	�� � ��
 #� '	
2
����
	 
��� >������#�	���$? �
	 
�
�
��	�� 
#% �	
 ���� #� '	
����
	
������%���
 >
�
�
	�	���$?�

9 	'�
 �	
 ��� 
���3�	
 #���
��/���� 
#% '	�� �� #����� )���2
3��� 
#% ��� Nicolas Rashevsky �� �7!5� 
��� � ���	�����$ :���
�%$
�
3��
�	�%$ �
	 �#	������
$ ��$ ��������	��$ Alan Turing ��	��
� �/���
 �����%$ �
3
$ #�
��$ �#�0��������� �
	 
��� �� �
3��
2
�	�� ��
 ����	� ������� �� �7+�� (� ������� �� Alan Turing �	
 ��
������ ���	�
� � �������� ��
� &	����	�% �
	 �
�� � ��#�	
 �� #�
2
�� ��3�� ���� ����� The Chemical basis of Morphogenesis� %#� 
��%�
�� �
 
��	'�
��
 �
	 '	
�����
 ���	�� morphogens� � Turing �%2
�	�� %�	 �� ������� �� ���
	 #��/ 3�����	�% �
	 �	
  #��
#��/��� ��
��#�	� 
��3	��/ &	����	��/ � ����
��$� 
��� ��
� #�#�	�����$ %�	 ��
������� �� 3
 �#���/�� �
 �0�����	 ��#�	
 
#% �
 �������
�
 #� 
��� � ����� �� �� �������������

� Turing 
��%��� �� ���
�	�� �
	 ������	�� '	���
�� �
	 3�
����
��� 
���'�
�� �
	 '	�� �� ��� ���
�	'��� �
 ���
	 �
 #	� ���
��	��
�	
 �� �/����
� ��	$ ����$ �
$�  #���� � ��#�	�$ #�	��	��$ ��'��0�	$
%�	 �
 ������
 �� Turing ���
	 	�
�� �
 �	��3�/� �� &	����	�� 
 ��2
��������� 
��� � ���	�� 
#%'�	0� %�	 � ������������ ���
	 #�
��
�	��
��
$ ���
�	��%$ %#�$ 
 ��� �� Turing '�� ���	 '�3�� 
�%���

(� #�%&���
 ��� 3����
 �� Turing ��
� %�	 � /#
�0� ���	�
� ��2
�	�
� ����
� %#�$ #��&��#%�
� 
#% �� $ �
3��
�	��/$  #����	���/$
�� '�� �#���/�
� �
 �#	&�&
	�3�/� #�	�
�
�	��� 9 /#
�0� ����
�
Turing �� �#�	�'�#��� ���	�% �/����
 �#���� �
 
��	�&���3�� �
	 #%2
�� ������ �	
 �
 &	����	�� � ����
�
� B���$ ���� 
��� ��$ '��
���
$
�� �7+A ��
$ E
��$ :	����	�%$ � Boris Belousov #
�
������ �	
 �
2
�
����	�� � �#��	���� �� �	
 ���	�� 
���'�
��� 
��� '�� �#���/�� �

'����	�/��	 �
 
#�������
�� �� �� �
���
 #��	�'	�%� �
3
$ '�� �#�2
��/�� �
 ������/��	 �
 
#�������
�
� #� �
����
	 �
 
��	&
��� � ��
'�/���� �%�� ��$ D����' �
�	��$�

C������
 
#% �� '� ��	� �� Prigogine ��
� 
��� %�	 � �����#�
 3

�#��#� � ���
$ �
 
 0���	 �� �	
 '	
'	�
��
 �
	 ���	 �	
 ���	�� �
���2
���� �
	�%�
� 
'/�
�� �� ��� �����#�
 �
 
 0����
	 �
	 �
 ��	
���
	



�� �������� vii

'	
'��	��� *�� ��
� #�	� 
#% �� ����$ ��$ '��
���
$ �� �76A %�
�
#
�
����3��� %�	 � 
���'�
�� #� #�
��$ � Boris Belousov ���������
�#	'�	��/�	 ��
 ���
�	��% ����
�	���/ ����
� �� ���	%����$ �� �������
#� � Turing ���� #�������	� B���$ ���
	 ���
��	�% �
 #
�
������ ��
%�	 �
 � �
�������$ ��� Belousov-Zhabotinsky 
��� �
	 �	 �����$ �� 
Turing ���
	 
��0������$ �� ��%�� �

�	 #�
��$ #�	�
�
�	��$ #
�
������	$ ��
3��
� ����
� Turing ��	2
�
� 
#% 3�����	��$ �#� '�$ �
	 ��� #�
��	�� 
��#� 0� ��%$ ��� ��'� $

��	'�
��
� � ���
$ 
�
'� %����� �� '������ *�� ��
� #
�� ����	 ��
�77A� %�
� � ���'
 �� Patric de Kepper #
�
������ �	
 ��
3��� ���2
�� �� ����'�$ �� ��
 ���	�% �/����
 #� 
����/�� ���� 
���'�
��
	%���� "����� � 	%���� =�'�� �
	 �
���	��/ �0��$ >CIMA reaction�
�	'	�%���
 � 
#
	��/���� '	
���� ��� $ � 3��/$ '	�� ��$ ��� ���	�
�
� �	
� �
3 ������� ��� #�
�� #�	�
�
�	�� #
�
������ ����
� Tu-
ring� (� �77� �#���$ #
�
����3��
� �
&'
��	$ ���� 
���'�
�� CIMA
�
	 '���3��� %�	 #�	�
�
�	��$ �����$ Turing �#���/� �
 
�
#� �3�/�

�%�� �
	 �� �����
 ����
�

9 #
�
������ ����
� Turing �	���
�� ��
 
�
������� ��'	
�����
��� �
	�%���� �� ����
�	���/ �� $� - �% #� #�����/���
 ��
� �%2
�� �	
 �
3��
�	�� #�%&��@� ��%$ #�� ���
�� �
3��
�	��/� ,A ��%�	


��%���
 �#	&�&
	
3��� �
 ���
	 ��
 #�
��
�	�% ���	�% �
	�%����� �
���
�	��%$ Turing ���	 ������3�� �
	 ���	 '	
#	���3�� � ��
����� �� 
��� '	
'	�
��
 '��	� ���
$ ����
� �� :	����	�� ������
 
��� �
	 ���2
���
 
�����#�'�
��$ ���
0/ ���	�
�� �	
 #
��'�	��
 � ���
�	��%$ Tu-
ring �#���� �
 ������/��	 �� '��	� ���
 ����
� ��� '���
 ��� )
��
>���#��'
��� )�&�
� ��'	? 
��� �
	 �� '��	� ���
 ����
�	��
� �
�� ��
���
������ ��	������ )
�� >#� �	�� @��	
 ��#?�

9 '	�� �� � ��3�$ &
��)��
	 �� ������
 � �
��� #��	#����� �

�#��
 %�
� � �' �)���
	 �� �0	�
��	$ 
��#� 0�$ #��3 ��
� �'���� ��
���	�� ��������� �����	��
� ��
����
�� ���	�� �	
 '	
'	�
��

'	�� ��$ �� ��
 �	���/����
 �����	 �
 #
����	 �	
 ������� # ��%���

#��3 ���/ � �#��
 ���
	 �	
 ���	�� ���	�����	
� B���	 3
 �#���/�� �

#��	����	 �
���$ %�	 �� ��
 �	���/����
 '/� 
�����#	'�%���� �	'
�� ��2
���%$ 2 3��
�
 >predator - prey?� �
 �#��
 '	
����#�)���
	 ��� �
��� 3

�#��3�	 ���	�����	
 ��� #��3 ��
�� - �% ��	#%� #� ���
	 �
	��/��	�
���� 	'�
 �� Turing ��
� %�	 ���� 
#% ��	�����$ � �3���$� � ���2
�
�
 
���'�
��$ 2 '	�� ��$ ����
��)� � ���	�� 
����	������$ �����$�
'	
'	�
��
 � �#��
 ���������� �
���
���� Turing �	
 �� �������

���3�	
$ 
#% '	�� ��� 9 �/�� �#	&�&
	
��	 ��� 	�� �	��% �� �� ���2
�
�	��% ����
� 
#% ���'�$ #��3 ��
� %�
� 
 ��� 
#�	��/��
	 
#% ��
� ���	�



viii �� ��������

��
 �	�����	�� � ���
��
 �� �
�� ���	 
�
����	���� 
#% #
�	�
�� ��� ������� ��$ 3����
$ �� ����#	���/� .%�� %��$ ��$ /#
�2
0�$ ' ����	
� 
��#� 0�$ &��	�
� �������� 
����/$ 
��
���	���/ �
� ����
�	�� 
��� �� ��� ���	�
� �	�����	�
�  #��0� #��	��	������
(� ��'	
����� �	
 �
 �	�����	�� �� �
�� 
��
3��� ���� �� 1990
��� #�
��	� ��$ ��
$ �	�����	��$ �����
��
$� �� ��� ��� �
 �
 �#	���2
��
���
	 �� 3��
�
 %#�$ �
 
��	
 ��$ ���	��$ 
��#� 0�$� ��$ ���	��$

�����#�'�
��$� � � ��#�3���
 �
	 �� ����3�$ ��� #%�����

�� #��&���
�
 #��	&
����	�� �
	 '	
����	��$ #%��� � #��	�@���
 ��$

��� ��$ ���	 �#	������3�� �� 3��
�
 %#�$ ' �
�	�� ����&
��$ #��$
��
 ��
3���#�	����� �
����
�� � �
 �
�
����	��	�� ��$ ��
3��%��2
�
$ �� ��
 ����	
 �
����
��� B���$ ���
	 #���
��$ %�	 %�
� 
�
�/���
	

�
��
�	��$ �
	 �	'	�%���
 &	����	��$ #���$ � ���	�� ���
&���%���

�� �
	������ ���
	 �#���$ ���
��	��� �	 &	����	��$ #���$ ����� � �

'	
����#�)���
	 ��� �
�� �� ��� �#�'�
�� ' ������ #� � ���/� �� '	�2
� �� � �� � ��������� >Akira Okubo 2001?� - ��$ �	 '	
'	�
���$ �
)�
�� �	$ ���%$ �
	 ���� ��� �	'
� 
�����#	'����	$ � ���/� �� '��	� ���

���	�
� ��	��� >patterns? �	
 �
 ��'��

���� �	
����

>�? ��	
�� �����
�����
��9 �
����
�� �
�� ��� �#��
 �
� ��������� �� 	�����#�
 �� #%�� �
	 ��$ �	�����	��$ ��2
�
&����$ ���
	 '	
�����	�� �� '	
�����	�� �����
 ���
 �� ��

'������ ������

>�? ��	
�� ���
�����
�� 9 �
����
�� �
�� ��� �#��
 � � �2
�������� �� 	�����#�
 �� #%�� �
	 ��$ �	�����	��$ ���
&��2
��$ ���
	 � �'	
 �� %�
 �
 �����
 �� ��
 '������ ������

>!? �
����
���
 '	
'	�
��
 %#� � �	������#	�� �� �
���	�� ��2
���� ���
�	'��� %#�$� �/��
�
� &
����	
� ���	�� � )

 ���	
�$ 
#�������
 ��#�	
 �
������#	�� �
���	�� ������ �� � 2
�%�� �

���� ���
��
 
 �� 3
 ����	 #���#�3�	
 
��� ��$ ��%$ �	�����	��/
������� �� ����� 3����
$ �
	 � �#��
������ 
#% &	����	�� ������
�
D
 �0����� ���� �� ��� �#�'�
�� �� ���
�	���/ Turing ���� �����	2
�� 
���3�	
$ '	�� ��$ �� ��
 �	�����	�% ������� %#� � ����������
��	
����
���	 �� ��
 ����� 
�����#	'�� �� ��� ��	������ ��	
����
�
���	�

9 ����� �� ���
�	���/ Turing �
$ �#	���#�	 �
 
�
�/�� �� ��
��#������	�$ � �3���$  #% �	$ �#���$ � '	�� �� �#���� �
 '��	� ���2
��	 ���	�� 
����	�����	
 �
	 '��	� ���
 ������� ������ �patterns� �



���� 	
���	� ix

���	�� ���	�����	
� B��
� � ���	�� 
����	�����	
 #���/#��	� � � �2
�������� ��� ���
&���
� #� �
$ ��'	
���� � >
#%3��
 �����������
��	
����
���	� �
	 ������� ��	������� ��	
����
���	�? �� 	�����#�2

� ���
	 '	
�����	�� �� '	
�����	��$ ��#�3����$ ��%$ '�'����� ����� �
-#% �� ��	��� #� � ���
�	��%$ 3
 
#��
� �3�� �#���/�� �
 
�
�/2
�� �� �� 
#�������
 ��$ �/3�	��$ ���� �0�#���� � ��� #��	��	��% ��$
���	��$ 
����	�����	
$� ���� ���
��
 
 ��4

>�? D
 
�
�/�� �� �� ������� '	�� ��$ #� '	�#�	 
�����#	'�
��2
��$ �	�����	��$ ���
&����$ �� �
�� $ � ����/$ ��%�� �

>�? D
 �0��� �� �
���$ � �3���$ #� �0
��
��
	 
#% �	$ ���
&��2
��$ 
 ��$ ���� 
#% �	$ �#���$ � '	�� �� 3
 �#���/�� �
 #
����	
���	��$ �����$ >patterns?�





��;<-.-=� �

��������
 ��� ��������

F#����	 #�%��
�� �0
��� ��'	
�������$ ����	�� �� �� �����
�	��
�#�@� ��$ �0��	0�$ '��
'� ����	�� �� ��� �%#� %#� �
�&��� � �
�

�	 �	�����	��$ '�
����	%����$� �/����
 �� ��� Paul krugman >The
Role of Geography in Development? ���	 ����	� '� 3
 #��#�	 �
 �
$ '�2
�	� ���� ��#��0� �
3
$ �	
 #������	�� �
�	
 ��� �����  #�'�	��/�	 %�	
'	
����$ ���� �	�����	�� 
��#� 0� ���
	 �� ���	��� � �'�'�����$ ��
��� ��#�3���
4 �
��$ ����� ���� =�����	�% ����� � �
 ���
	 ����%����$

#% ������$ ��	$ �/��
��$ )
��$ �
	 �� �
�
 ���
��� �	�%'��
 ���� � 2
�
#� '�����	 �
 
���� 3�� �	
 �
3�'	�� ����� 
#% ��� &���	�
�
���	��
����
 ��$ �#���� �

�����$ �	�����	��$ '�
����	%����$ ���
	 �
�
$ � �����������$ ���2
��
�	��� �	 #��	��%����	 ��3��#�	 ��	$ 
�
#� �����$ �
��$� �
	 ��
$

 0
�%����$ 
�	3�%$ ��	$ 
�
#� ��%����$ �
��$� ���� � �� ������$�
# ����
��	������$ ���
�� #%��	$� �����$ �#	��	����	$ >� �#��	�
�&
2
������� �
	 �#	��	����	$ #
����$  #����	
� %#�$ ���#�)�$? ���
	 �#���$
�����
�	�� � �����������$ �
	 ����	
 � �������
�
 ���
	 ��
 ���
��	2
�� #��� '	�3��/$ �0�	'��� ��$ �
	 ��#���� �

B���$ '� )�/�� %��	 �� �	
 ������ #%��� �/�� � #
��%��	
 �	��2
����
 � ������
��	 ��� #
�
���� �� �	
 �%�� ��#�3���
� ����
�
$
 #����	 #%����$ 
�����
 �� ' ����	$ #� ����� � �
 #���3��� � ���2
��
�	�� � ��������� �
	 ������� #� ����� � �
 
��	��
3�/�� '��
'�
����	������ �
	 ��������	�� ' ����	$�

��� ������� #� 3
 �
�
��� ��� �� 3
 #���#
3��� �� �
 ������2
�� �� #�$ � ���������� ��	
����
���	 �� ��
 �%#� � � #����	 �� ���
��	������ ��	
����
���	� #�$ 
�����#	'��/� �
	 3
 #���#
3��� �� �

������/�� �� �� '��	� ���
 ��	
��� ��	��� �� �� &��3�	
 �� 
�
���
��� Turing�

�	
 ��� �
�
��� � �� ������� �
$ 3
 ���� �� �	$ #
�
���� #
2
�
'���$4

��



�� �� 
�
��
��� �	� �	����	�

• �	
 ��� ���������� ��	
����
���	4
! - 0���	� 
�
#
�����
	 >
 ���
�
� �	�%$ ���
�	��%$ #� 

������#�	���
	 
#% ��� ��
#�)	�� '�
����	%���
? �
	 '	
2
����
	 ��� �
�� �� ��
 ��
3��% � �������� '	�� ��$ DV �

! B� � 3�%$ ����	��$ 
��#� 0�$ ���
	 3��	�%$ �
	 
#� ��

��
#�)	��$ '�
����	%���
$ �3���	 �� ��
 ���	��� ������
>������%$ �� ����� 2 3����/�� %�	 �� ����� ���	 ���� 2
�
 	�
�%���
 K? �
	 ���� �����
	 
����	�%$�

! �
�� ��
 ��
#�)	��$ '�
����	%���
$ ��� 
	��
����
 ��%$
���� $ ��$ �	�����	��$ '�
����	%���
$ >�	
 ��� ���
�
	
2
�� �#����	
 ��� (�
#�)
� 
#
	����
	 �� ����3�$ ��� �
2
�
3����� �
 ���
	 ���
�/���� ������ ��� 0���������?

• �	
 ��� ��	������ ��	
����
���	4
! 9 ��
#�)	�� '�
����	%���
 ���/��
	 
#% �� ���'�$ �
	 '	
2

����
	 ��� �
�� �� ��
 ��
3��% � �������� '	�� ��$ DU �
�'
 #��#�	 �
 ��&� ��  #%@� %�	 ��#�	�	 3���	��� #
��2
�����$ >����3���
� #��	&
����	��� #
�������$? � 
�%�

�
	 � �
�
����%���
 ��$ ��#�3���
$ >3���	$ #���	���� �/2
����
 #�%�&
��$ ��#? ��#�'�)� � ��� ��
#�)	�� *�
���2
�	%���
 �
 '	
����
	 ��� �
�� �� �#�	�� � 3�%�

! � � 3�%$ 
��#� 0�$ ��$ 3
 ���
	 
������$ ��$ �	�����	��$
'�
����	%���
$ �� ��
 ���	�% ������ ��
 
#� ��
 �	����2
�	��$ '�
����	%���
$ � ��
#�)	�� '�
����	%���
 3
 �3���	
�
	 �� ��#�	
 ����	�� ��	��� 3
 �&���	�

���� ��� #
�
#��� #
�
'��
� 3
 &���� �� ��	����
 � �#�����
�

#� 3
 �����0� � ��� �
�
��� � �� ������� �
$�

• 9 �#�'�
�� ��$ ��
#�)	��$ '�
����	%���
$ ��
 
 0���	 �� �%2
���$ '�
 �
�
� �	�� ���� '	�� �� ��� �
�� ��$ �	�����	��$
'�
����	%���
$�>� ��
#�)	�%$ '
��	��%$ � ���� �� ���	�� �#�2
��
�� �%�� ��� �#	��	������ %�� �
	 ��� ��	��� �	
�? �#%��
�/����
 �� �� $ %�� $ ��$ 3����
$ �� Krugman '�
 �����
����	
���

• 9 
/0��� ��$ �	�����	��$ '�
����	%���
$ �� ��
 �%#� 
 0���	
�� ���'�$ ��$ ��
#�)	��$ '�
����	%���
$ �� 
#�������
 �
 ��
'��	� ���� ������
 '	�� ��$� D
 �#���/�
�� ��	#%� �
 � �2
#����� �� %�	 �
�� Krugman � �	�����	�� '�
����	%���
 '��
����	����� �	
 ��� ��
#�)	�� '�
����	%���
�

(� ������� ��� �#��� 3
 &
�	���/�� �	
 ��� #
�� ��
�� �� #��2
&���
��$ ���
	 &
�	����� �� ��
 ������� � ����/2 3����
��$ >predator
- prey? '
��	����� 
#% �� :	�����
� B��� �� �
�
��� ���	 ��
 '	
��2
��#�	����� Lotka-Voltera ' �
�	�% �/����
 �$ �0�$4



�� 
�
��
��� �	� �	����	� ��

B���� V (x, t) � � ��������� ��$ ����������� ��	
����
���	� ���
����� Z #� �������� '�� x ∈ Z �� ����	�� ��	��� t� t ∈ [0,∞) �
	
U(x, t) � � ��������� ��$ ��	������� ��	
����
���	� ��� �'	� �������
��� �'	
 ����	�� ��	����

9 ��	������ ��	
����
���	 3����/�� %�	 
�
#�/����
	 ��� ��%��
�
	 '	
����
	 ��� �
�� �/����
 �� ��� #
�
���� �0�����4

>���?
∂U(x, t)

∂t
= F (U(x, t), V (x, t)) + DU∇2U(x, t),
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∂U

∂t
= δpqU(

AK − pqKU

A
) − C(U) + DU

∂2U

∂x2

= U((δpqK − C(U)) − δp2q2K

A
U) + DU

∂2U

∂x2

= (δpqK − C)U(1 − δp2q2K

A(δpqK − C)
U) + DU

∂2U

∂x2
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����� ���
'	'%���� �/�
��$ >travelling wave? #� �#���� �
 ��
����
�$

>!�+? U(x, t) = u(z) � z = x − ct

%#� c ���
	 � �
�/���
 �� �/�
��$ � �#��
 3
 #��#�	 �
 	�
��#�	�� ��
�����

>!�6? c ≥ cmin = 2(s′DU)1/2 = 2[(δpqK − C)DU ]1/2.

9 �/�� 
#�	����)��
	 ��� ����
 >�?�
(
 #
�
#��� 
#�������
�
 �#���/� �
 � ��@	�3�/� ���� #
�
����

#�%�
��4
"	����
 � ���� %�	 ��
#�)	�� '�
����	%���
 '	
����#�)��
	 ���

�
�� �/����
 �� ��� >���?�F#�3��� �� 
�%�� 
��	��� #�%�&
�� �	��2
���	��$ '�
����	%���
$ �
	 %�	 '	
����
	 ������
 �#	������
$ ������%
�� %�
 �
 �����
 �� ����� �(%�� 3
 ��� �� �� �/���	�� �� �	
 �/�� �
� �
���	'�/$ �����$� �	
 �� � ��������� ��$ ��
#�)	��$ '�
����	%��2
�
$ u(z)� �� 
������	�� � ��������� ��$ �	�����	��$ '�
����	%���
$

#� '����
	 
#% �� ����� V = AK−pqKu(z)
A

�



��;<-.-=� ,

 
��������
 !"
� ��� �#�
�
�� �#���#�� ���

��������
� ���
����������

�/����
 �� �� �
������
 >-? � � �
���	'�$ �/�� ��$ �0�����$
>!�,? 	�
��#�	�� �� �����

>,��? u′′ + cu′ + u(1 − au) = 0 � u(z) = U(x, t) � z = x − ct.

�	
 ��� #
�
#���  #���� � ���%����$ �/��	$� �� u(−∞) = 1
a
�
	 u(∞) =

0� �	
 %�
 �
 c > 2� �	 ����	�$ ��� �#�#�'� ����$ ���
	 �/��	$ ��$

>,��?
dv

du
=

−cv − u(1 − au)

v
.

*�� ��� � &��3�� 
�
� �	��$ �/��	$ 
 �
� ��� �0	�
���� �	
 c �#�	�'�2
#���� �����%�	  #����	 
��	&�$ �/�� �	
 � �����	���� c > 2 >�����!�,
Murray 2002 VolI?�9 /#
�0� %��$ �	
$ �	���$ #
�
����� ��	$ �0	�
2
��	$� � ε = 1

c2
≤ 0.25�  #�'�	��/�	 %�	 3
 #��#�	 �
 @�0� �� �	
 
� �2

#���	��$ �/��	$ ��$ �0�����$ �	
 0 < ε << 1�
-��/ �	 � �
���	'��$ �/��	$ ���
	 
�
������$ �� ��3� ���
�%#	�� ��$


���$ ��� 
0%��� 3��� �� z = 0 �
 ���
	 �� ������ %#� U = 1/2 >�	
 �

���	 �%��
 � #
�
'��� 3
 #��#�	 �
 	��/�	 a < 2?� D
 ����	��#�	��� ��
�	
 �
3	������� ����	�� '	
�
�
�
� �	������
$ �	
 ��
 ���
&���� �/��

#% �� ������ z = 0 �
	 3
 #���#
3��� �� �
 &��/�� �� �/�� �$ ��


��#� ��
 Taylor �� ����� �� �� �	��� #
������� ε� - �% �#���/��
�
 �� ���� �� �� �� ���
����
�	��%

>,�!? u(z) = g(ξ) � ξ :=
z

c
= ε1/2z.

.%�� ��$ >,�!? �
	 ��� � ���	
�
� � �3��
� �	
 �� u � >,��?�����
	4

ε
d2g

dξ2
+

dg

dξ
+ g(1 − ag) = 0

g(−∞) =
1

a
g(∞) = 0

0 < ε ≤ 1

c2
= 0.25

>,�,?

��



�� �� ����
������ ����

�
	 
#
	��/�� �#	#���� g(0) = 1/(1 + a)� (
�
 3
 @�0� �� �	
 �/��	$
��$ >,�,? 
�
#�/����
$ �	
 �
���	�� ��	�� '	
�
�
�
� �$ #��$ ε

>,�+? g(ξ; ε) = g0(ξ) + εg1(ξ) + ....

"���	��#�	
��
$ 0
�� �	$ � ���	
��$ � �3���$ ���±∞ �
	 %�	 g(0; ε) =
1/(1 + a) �	
 ��3� ε #
���� �� 
#% ��� >,�+? �	$ � �3���$ �	
 �
 gi(ξ)
�	
 i = 0, 1, 2, ...

g0(−∞) = 1,g0(∞) = 0 � g0(0) = 1/(1 + a)

gi(±∞) = 0 � gi(0) = 0, �	
 i = 1, 2, .....
>,�6?

-��	�
3	��
��
$ ��� >,�+? ���� >,�,? �
	 �0	�
����
$ �	$ ' ����	$
�� ε #
���� �� �
 
�%�� 3
4

O(1) :
dg0

dξ
+ g0 − ag2

0 = 0 '��
'�

dg0

dξ
= −g0(1 − ag0)


#% ��� �#��
 #���/#��	 %�	

g0(ξ) =
1

a + c1eξ

�
	 �� ����� ��$ g0(0) = 1/(1 + a) � g0 �����
	4

>,�1? g0(ξ) =
1

a + eξ
.

O(ε) :
d2g0

dξ2
+

dg1

dξ
+ g1 − 2ag0g1 = 0 	��'/�
�


g′
1 − g1(

g′′
0

g′
0

) = −g′′
0 %#� g′ =

dg

dξ

�
	 �/����
$ ��� #
�
#
�� '	
���	�� �0����� #
���� ��4

>,�5? g1 = −g′
0 ln[|4g

′
0

a
|] =

eξ

(a + eξ)2
ln[

4eξ

a(a + eξ)2
].

"���	��#�	
��
$ �	$ #
�
#��� �0	�
��	$ �
	 �#	��������
$ ��	$ 
�2
�	��$ ���
&����$ u �
	 z � ���	%����
 	��/� �
 
� �#���	�� �/�� �	

%�
 �
 z '����
	 
#% ��� #
�
���� �����4

>,�7? u(z; ε) = (a + ez/c)−1 +
1

c2
ez/c(a + ez/c)−2 ln[

4ez/c

a(a + ez/c)2
+

+O(
1

c4
) � c ≥ cmin = 2



�� ����
������ ���� ��

�#���/�� �
�
 �
 ����	��#�	��� �� ��� #
�
#��� 
� �#���	��
�/�� �	
 �
 &��/�� �	
 ����� ���
0/ ��$ �����$ �� #
�
�%���� �/�
2
��$ �
	 ��$ �
�/���
$ 
�
#
�
����$ �� � -��/ 	��/�	 U ′(z) < 0� ��

������ 
$ �� ������� �� s� ��$ �����$ ��$ � �
�������$� 3
 �#���/2
�� �
 ���
	 � �	�� �� ������� �� U ′(z) � 	��'/�
�
 �� ������ %#� 
U ′′ = 0� H���� �� �
 �����
 %#� U ′′(z) = 0 '��
'� �
 �����
 �
�#�$
��$ U � �� �� &��3�	
 ��$ >,�+? �
 �����
 %#� 

g′′
0(ξ) + εg′′

1(ξ) + O(ε2) = 0

� �#��
 '���	 ξ = 0 '��
'� z = 0� 9 ����� ��� z = 0 ����	��#�	
��
$
��� >,�7?� '���	

s = −U ′(0) =
1

4c
+ O(

1

c5
),

����� � �#��
 	��/�	 �%�� �	
 c ≥ 2� - �% �� 
#�������
 � ��#����
	
%�	 %�� ������%���
 �	����
	 �� �/�
� '��
'� %�� ���
�/���� �� c� �%��
�	�%���� 
#%���� ���
	 � � �
��������

(
 
#�������
�
 
 ��$ ��$ ��%���
$ �#���/� �
 ���	�� 3�/� ��
������
 �����	'
� #��3 ��
� #� � � ������� 
��#� 0�$ #
�	������
	

#% ��
 �
������� f(u)� ���	 
��� �
 	��/�	 � �����

∂u

∂t
= f(u) +

∂2u

∂x2
,

%#� f(u) ���	 �%�� '/� �����
 ��'��	���/ ���� u1 �
	 u2 > u1� ���
f ′(u1) > 0 �
	 f ′(u2) < 0 �%�� �� �	
 
��� �� %��	
 �� #
�
#����
� �
���	'��$ �/��	$ #���/#�� � �� �� u �
 #��
���	 ���%���
 
#% �� u1

��� u2 �� �
�/���
 �/�
��$

c ≥ cmin = 2[f ′(u1)]
1/2.

9 #
�
#��� ����� #���/#��	 ��
��	��#�	
��
$ ��� f(u) �/�� 
#% ���
� ��
��� %�� %#� u ≈ u1�





��;<-.-=� +

 ������
� $ �����
� ��������
� $

%��������
� ���
���������� ��� 
������
���

����&�

���� #�����/���� ��%���
  #�3��
�� %�	 �� ��
 �� ��
����� ���	2
�% #�'�� � �	�����	�� '�
����	%���
 '	
����
	 ������
 �� 
#�������

��� ������% �� �����  #% ��� #��I#%3��� %�	 �#	���#� �� ��� 
��	2
��� #�%�&
�� ��$ �	�����	��$ '�
����	%���
$ 
#% %��$ �	$ #�� ��$�
F#% 
 ��$ �	$ � �3���$ �������
�� ��� �0��	0� ��$ ��
#�)	��$ '�
���2
�	%���
$ ��� ���	�% 
 �% #�'���

�� 
 �� ��� ��%���
 3����/�� ��
 � �#
��$ ���	�% #�'�� Z = [0, α]
�
	  #�3��� �� %�	 � �	�����	�� '�
����	%���
 '�� '	
����
	 
#����$
������
�

���#%$ �
$ �� 
 �� ��� ��%���
 ���
	 �
 �������� �� �	$ 
�����2
#	'����	$ ���
0/ (�
#�)	��$ �
	 �	�����	��$ *�
����	%���
$ �
	 ��
'/�
�%���
 �������$ ���	�
� ����
� ���
 ��� ���	�% #�'���

#��� $��
��� ���%���� �
� &���%�
� "	����� ���
 �'�
�
����
� &�����
 $	���
��� (��%�	��
��� ��


&��'��)
 ��	
��� *�	���

B��
 �/����
 
���'�
��$ 2 '	�� ��$ �#���� �
 �#	'��0�	 
���3�	

#���
��/���� 
#% '	�� �� � �#��
 ��#�	�$ ����$ 
#��
����
	 �����
%�
� Turing�- �% � �&
���	 ��� � �������$ ����	�� ���� ���
	 ��
2
3��� �� �	���$ '	
�
�
��$ 
#� ��
 '	�� ��$ 
��� 
��
3�$ �� �	���$
���	��$ '	
�
�
��$ %�
� � '	�� �� ���
	 #
��/�
�

��� �����
	� 
 �% 3
 �0��� �� �	$ 
�
��
��$ �
	 	�
��$ � �3���$
�	
 
���3�	
 ��$ ����	��$ ����$ #���
��/���� 
#% '	�� �� �
	 ���
#
�
���� ���	�
� ����
� �	
 ��
 �/����
 
���'�
��$ '	�� ��$ #� 
���	 �� ���	�� �����4

ut = γf(u, v) + ∇2u

vt = γg(u, v) + d∇2v
>+��?

��



�� �� �����
��� ������� ��� ���������	� �	
���

%#� d ���
	 � �%��$ ��� � �������
� '	�� ��$� ����	
�� �� %�	
�� J∇K � �&���)� �� ��� #
�
���� �$ #��$ �� ���	�� ���
&����� 9
#
�������$ γ �#���� �
 ���	 ��#�	
 
#% �	$ 
�%�� 3�$ ��������$�

>�? γ1/2 ���
	 
������ �� ��
��	��/ ����3� $ �� ���	��/ #�'�� 
��� �	
 '	���
��� ��	$ ' � '	
�����	$ �� γ ���
	 
������ �� 
��&
'�/�

>�? (� γ 
��	#����#�/�	 �� ����	�� 	��/ ��� %��� 
���'�
��$�
- �% ���
���	 �	
 #
��'�	��
� %�	 �	
 
/0��� �� γ �#���� �


��	#����#�/�	 �	
 
/0��� ��� '�
����	%���
 ��#�	
$ ����2
��	
$ ���� 
���� 3�
 
���'�
��$�

>!? �	
 
/0��� ��� γ �#���� 
�%�� �
 3����3�� �$ 	��'/�
�� ��
������ ��� �%�� ��� � �������
� '	�� ��$ d�

�	
 �
 '	
� #
�� �� �� #�%&���
 �
3��
�	�� 
#
	��/�� � ���	
��$
�
	 
��	��$ � �3���$� �
���� �� ��	#%� � ���	
��$ � �3���$ ��'��	��$
���$ �
	 
��	��$ � �3���$ '������$� (� �
3��
�	�% #�%&���
 ���)��
	
�$ �0�$4

ut = γf(u, v) + ∇2u,

vt = γg(u, v) + d∇2v,
>+��?

��� B × (0,∞)�

n · ∇
(

u
v

)
= 0 � ��� ∂B × [0,∞) � u(·, 0) � v(·, 0) '�����
�

D����/�� ∂B �
 ���
	 �� ���	��% �/���� �� ����� 
���'�
��$ '	�� 2
��$ B �
	 n �
 ���
	 �� �
���	�% ���
'	
�� '	�� ��
 ��� ∂B� F#���� �
'	�����	 �%��	 #� '	
��0
�� � ���	
��$ � �3���$ ��'��	��$ ���$� �
� �	%����$ 
#% 
 ��/$ ���
	 %�	 ��'	
���%�
��� �	
 
 ���������� ���
����
�� ��� �#	&��
�� �
3��	�����$ � �3���$ ��'��	��$ ���$ ��
 u
�
	 v� � ���	�� �����#����� 3
 �#���/�� �
 ���
	 �	
 � 3��
 � ��#�	

��� � ���	
�
� � �3��
��

9 ����	�� �
����
�� �� 
������	�� ��� >+��? �������/$ � ���2
�
��$ (u0, v0) ���
	 � 3��	�� �/�� �� � ����
��$

>+�!? f(u, v) = 0 � g(u, v) = 0.

F#�3��� �� 
�%�� %�	 f(u, v)� g(u, v) ���
	 
�
� �	��$ �/�� 
#% ��
������ (u0, v0)�

-��/ 3��� �� �
 �������� �� ��� 	
�����	 ����	������� 	�
 ����
� 
�� ��'	
���%�
��� �	
 ��
��	�� 
���3�	
 
 ��$ ��$ ����	��$ ����$
� �#��
 �0
����
	 �%�� 
#% �� �
��� B-�
� 
#� ��
 ��3� ���	��$ ���
2
&���$ � �������$ ����	�� ���� 3
 #��#�	 �
 ���
	 ��
��	�� ��
3����



���� ������� �������� ��� �������� �
	 ������� ��

"���$ ���	�� ���
&��� �
 u� v 	�
��#�	�/�4

>+�,? ut = γf(u, v) � vt = γg(u, v).

��� � ����	
 ��
��	��#�	�/�� �/�� 
#% �� ����	�� ���� (u0, v0)�
-��	�� 3��� �� x(t) = u(t) − u0� y(t) = v(t) − v0 �
	 �� �� &��3�	

�� 
�
#�/��
��$ Taylor �/�� 
#% �� ������ (u0, v0) �� �/����
 >+�,?
�����
	4

dx

dt
= γf(x + u0, y + v0) = γ[f(u0, v0) + x

∂f

∂u
(u0, v0)+

+ y
∂f

∂v
(u0, v0) + R1(u0, v0, x, y)]

>+�+?

�
3
$ |x| → 0 � |y| → 0 ��� �� R1(u0, v0, x, y) → 0

%#� |.| � � ����'	
 C%��
 �#%�� ��� ���

dx

dt
∼ γx

∂f

∂u
+ γy

∂f

∂v
.

����	
�� �� %�	 ���0�$ 3
 3����/�� �	$ ���	��$ #
�
�
�� $ ��� f �
	
g  #����	�����$ ��� ����	�� ���� ���%$ ��� ���	 '���3�� '	
�����	���
�� ������$ 
������ $  #����	���/$ #
���� ��4

dy

dt
∼ γx

∂g

∂u
+ γy

∂g

∂v
.

D�����
$ ��	#%� w =

(
u − u0

v − v0

)
�
	 �	
 |w| �	��% � >+�,? �����
	

>+�6? wt = γAw %#� A =

(
fu fv

gu gv

)
(u0,v0)

%#� A � #��
�
$ ��
3���#�����$� D
 @�0� �� �
�
 �	
 �/��	$ ��$
>+�6? ��� �����

>+�1? w = Ceλt

%#� C =

(
C1

C2

)
�λ 	'	��	�� �� #��
�
 A� 9 ����	�� ���� w = 0 ���
	

��
��	�� ��
3��� ��� Reλ < 0 
��/ �� 
 �� ��� #���#���� � '	
�
�
��
w → 0 �
3
$ t → ∞�

-��	�
3	��
��
$ ��� >+�1? ���� >+�6? ��� ��

>+�5?

(
xt

yt

)
=

(
γfu γfv

γgu γgv

) (
x
y

)



�� �� �����
��� ������� ��� ���������	� �	
���

�
	 �	 	'��	��$ ���)���
	 �$ �	 �/��	$ ��$ �0�����$

|γA − λI| ↔
∣∣∣∣ γfu − λ γfv

γgu γgv − λ

∣∣∣∣ = 0

�
λ2 − γ(fu + gv)λ + γ2|A| = 0

�

>+�7? λ1, λ2 =
1

2
γ
[
(fu + gv) ±

{
(fu + gv)

2 − 4|A|}1/2]
.

(� ��
��	�� ��
3��%���
 '��
'� Reλ < 0 ��� �0
��
��)� � �	 �����	$

>+��A? trA = fu + gv < 0 � |A| = fugv + fvgu > 0.

-��/ (u0, v0) ���
	 � �
�����	$ ��� #
�
������ ��� kinetics� 
 ��$ �	

�	�%����$ 3��� � ��	����� $ #��	��	���/$ ��	$ #
�
����� $�

(
�
 3����/�� �� #����$ �/����
 
���'�
��$ '	�� ��$ >+��? �
	
��
��	��#�	�/�� 0
�� �/�� 
#% �� ����	�� ����� � �#��
 �� ��� 
��	2
�
����
��

w =

(
u − u0

v − v0

)

���
	 w = 0 �
	 #
���� ��

>+���? wt = γAw + D∇2w � D =

(
1 0
0 d

)
.

�	
 �
 �/�� �� �� #
�
#��� �/����
 �0	�
���� �� �	$ '�'�����$ � ��2
�	
��$ � �3���$ #�
�
 ���)� �� W(r) �
 ���
	 � 
��0������ �� ��%�� 
�/�� �� ���	��/ #��&���
��$ 	'	��	�
� #� ���)��
	 �$

>+���? ∇2W + k2W = 0 ��� B� (n · ∇)W = 0 ��� ∂B,

%#� k � 	'	��	���
�	
 #
��'�	��
� ��� �� ����� ���
	 ����'	���
�� 0 ≤ x ≤ a� � �/2

�� 3
 ��
� ��$ �����$ Wn = C cos(nπx
a

) � n ∈ Z � �#��
 	�
��#�	��
�	$ � ���	
��$ � �3���$ �	
 x = 0 �
	 x = a� �	 	'	��	��$ �B 
 ��
��� #���#���� ���
	 kn = nπ

a
� B-�
� � #��%���
 1

kn
= a

nπ
���
	 �� ��2

��� ��$ � �
���	'�/$ �����$4 � 	'	��	�� kn �
����
	 � �	���
� 	����
�
�
	 �� 1

kn
���
	 
������ �� ���� $ �/�
��$ ω��� 
 �% �� #
��'�	��


ω = 2π
k

= 2a
n
� -#% �
�
 �
	 ��� �0�$ 3
 ����	��#�	�/�� �� %�� � �	���

�
� 	����
� %�
� 
�
���%�
��� ��� k� �� #�#��
����
 ����
  #����	
'	
��	�% �/���� � �
�	�
� 
�	3�
� �
3
$ n ∈ Z�

B���� Wki
(r) � 	'�� ������� #� 
��	���	��� ���� � �
�	�% 
�	3�%

ki �� i = 1, 2, 3, ... �	
 �	$ �#���$  #�3��� �� k1 < k2 < k3.... � ��3�
	'	�� ������� Wki

	�
��#�	�� � �3���$ ��'��	��$ ���$�



���� ������� �������� ��� �������� �
	 ������� ��

�
3
$ �� #�%&���
 ���
	 ��
��	�% @���� �� �
�
 �	
 �/��	$ w(r, t)
��$ >+���? ��$ �����$

>+��!? w(r, t) =
∑

µ

cµe
λtWkµ(r),

%#� �	 ��
3���$ cµ ���)���
	 
#% ��
 
��#� ��
 Fourier ��� 
��	�
�
� �3��
� �� %�� $ ��$ Wk(r) �
	 λ ���
	 � 	'	��	�� #� �
3���)�	 ��
����	�� 
��#� 0��

-��	�
3	��
��
$ ��� >+��!? ���� >+���? �� �� &��3�	
 ��$ >+���? �
	

#
�������
$ �� eλt� #
���� ��� �	
 ��3� k ∈ {ki}� i = 1, 2, 3, ...

λWk = γAWk + D∇2Wk =

= γAWk − Dk2Wk.

-#
	��/�� �� ����	����$ �/��	$ �	
 �� Wk �#%�� �� λ ���
	 ��)
 �� 
�
�
����	��	��/ #�� ��/�� 

|λI − γA + Dk2| = 0

�

>+��,? λ2 + λ[k2(1 + d) − γ(fu + gv)] + h(k2) = 0

%#� 

h(k2) = dk4 − γ(dfu + gv)k
2 + γ2|A|.

9 ����	�� ���� ���
	 ��
��	�� ��
3��� ��� �
	 �	 '/� �/��	$ ��$ >+��,?
��� � Reλ < 0� B��� �� �'� 3���	 �� $ #��	��	���/$ 
��� 
#� ��

'	�� ��$ � ����	�� ���� �
 ���
	 ��
��	�� ��
3��� #� ���
	 Reλ(k2 =
0) < 0� �� 
 �� ��� #���#���� � >+��,? �
 ��)��
	 �� ��� >+�7? �#%��
� 
#
����� Reλ < 0 �'��� �	$ � �3���$ >+��A?� �	
 �
 ���
	 � ����	��
���� 
��
3�$ �� ���	��$ ���
&���$ 
#
	��/�� Reλ(k) > 0 �	
 ��#�	�
k 
= 0� - �% 3
 �#���/�� �
 � �&�� ���� ��� � � ��������$ �� λ
��� >+��,? ���
	 
����	�%$ ���� ��� h(k2) < 0 �	
 ��#�	� k 
= 0. �
3
$
%��$ fu + gv < 0 
#% �	$ � �3���$ >+�7? �
	 k2(1 + d) > 0 �	
 ��3�
k 
= 0 ��� �� %�	 k2(1+ d)− γ(fu + gv) > 0 ��
 � �%�� #���#���� 
���
Reλ(k) > 0 �	
 ��#�	� k 
= 0 ���
	 �
 ��� �� h(k2) < 0 �	
 ��#�	�
k 
= 0. �����
�	 �� λ '����
	 
#% �� �����

λ =
−[k2(1 + d) − γ(fu + gv)] ± {[k2(1 + d) − γ(fu + gv)]

2 − 4h(k2)}1/2

2

�
	 ���
	 �
���% %�	 ��� h(k2) > 0 �	
 ��3� k 
= 0 �%�� Reλ < 0�
-��/ � >+�7? 
#
	��� |A| > 0 � �%�� #���#���� �	
 �
 ��� h(k2) < 0

���
	 ��� (dfu +gv) < 0� -��/ %��$ fu +gv > 0 
#% �� >+�7? � #
�
#���



�� �� �����
��� ������� ��� ���������	� �	
���

����� � ��#����
	 %�	 d 
= 1 �
	 %�	 fu � gv ���
	 ����%����	� B-�
 �	

� �#�����
�	�� � �3��� �� 
 ��$ ��$ >+�7? ���
	

>+��+? fu + gv > 0 ⇒ d 
= 1.

��� #���  #�3��� �� %�	 fu > 0� gv < 0 �%�� � � �3��� ��� >+��A?
�
	 � ���� �
�
 
�	�%���
 >+��+? 
#
	��/� � �%��$ ��� � �������
�
'	�� ��$ �
 ���
	 ���
�/����$ ��$ ����'
$ '��� d > 1� �	
 #
��'�	��

�� %�� $ �� ���
�	���/ ������#�����$ 2
�
�
��	��$ 
 �% ���
���	 %�	
� 
�
�
	�	���$ #��#�	 �
 '	
����
	 ������%���
 
#% ��� ������#�	����

9 
�	�%���
 >+��+? ���
	 
�
��
�
 
��� %�	 	�
�� �	
 �
 	��/�	 Reλ >
0� �	
 �
 ��� h(k2) < 0 �	
 ��#�	� k 
= 0� �� ����	��� h 3
 #��#�	 �

���
	 
����	�%� -#% �� >+��,? �� #
�
�
�	�� �$ #��$ k2 #
���� %�	

>+��6? hmin = γ2
[|A| − (dfu + gv)

2

4d

]
� k2 = k2

m = γ
dfu + gv

2d
.

���	 � � �3��� %�	 h(k2) < 0 �	
 ��#�	� k2 
= 0 ���
	

>+��1?
(dfu + gv)

2

4d
> |A|.

B��
� hmin = 0 )����� (dfu+gv)2

4d
= |A| ����� 
#% ��� �#��
 �#����

�
 #���/@�	 �	
 �0����� #� ���)�	 ��� ����	�� �	�� �� �%�� '	�� ��$
dc �$ ��� �
������� ��)
 ��$ �0�����$

>+��5? d2
cf

2
u + 2(2fvgu − fugv)dc + g2

v = 0

B� ����	��$ � �
�	�%$ 
�	3�%$ '����
	 �%�� 
#% ��� �0�����

>+��7? k2
c = γ

dcfu + gv

2dc

= γ
[ |A|

dc

]1/2
= γ

[fugv − fvgu

dc

]1/2

B��
� h(k2) < 0� � >+��,? ���	 �	
 �/�� λ #� ���
	 3��	�� �	
 �� �'	�
�/��$ ��� � �
�	�
� 
�	3�
� #� ���� � �� h 
����	�%� -#% �� �����
>+��,? �� d > dc �� �/��$ ��� 
��
3
� � �
�	�
� 
�	3�
� k2

µ1
< k2 <

k2
µ2

�
3���)��
	 
#% �	$ ��)�$ ��$ h(k2) = 0 �
	 '����
	 
#% �� �����4

k2
1 =

γ

2d

[
(dfu + gv) − {(dfu + gv)

2 − 4d|A|}1/2
]

< k2
µ1

< k2

< k2
µ2

<
γ

2d

[
(dfu + gv) + {(dfu + gv)

2 − 4d|A|}1/2
]

= k2
2.

>+��A?

9 ����
�� λ = λ(k2) �����)��
	 �	
 ����� '	
�#���$ >dispersion
relation?� �
�
����/�� %�	� 
�����
 ��� �/��$ ��$ 
���3�	
$� � #��%2
���
 Reλ(k2) > 0 �
�&���	 ���	��� �	
 ��� � �
�	�% 
�	3�% km #� 
#���/#��	 
#% ��� >+��6? �� d > dc� - �%  #�'��
��	 %�	  #����	 ��
$
���	���$ � 3�%$ 
��#� 0�$ ��� �3��	��
 >+��!? �	
 �� w� (�� 	'	%���


 �� 3
 �0��� ���� �� #
�
�����



���� ������� �������� ��� �������� �
	 ������� ��

��� 3������ �� �� �/�� w #� '����
	 
#% �� >+��!?� � � ��
���
� ��	����� �
3
$ �� t 
 0���	 ���
	 ������	 �	 %��	 �	
 �� $ �#��� $
Reλ(k2) > 0 
��/ %��	 �	 ����	 %��	 ����� � ��� ��'�� ��3��	��� -#%
�� ����� >+��A?� �
3���)� �� �� �/��$�k2

1 < k2
µ1

< k2 < k2
µ2

< k2
2� %#� 

h(k2) < 0� '��
'� Reλ(k2) > 0 �
	 ���	 
#% �� >+��6? ��
�
��
$ �� $
%�� $ �� 
3�����
��$ �� ��� � ��
��� � ��	����� ��� ��

>+���? w(r, t) ∼
µ2∑
µ1

cµe
λ(kµ

2)tWkµ(r) �	
 ������ t�

� �#��
��� �� ��	#%� %�	 � ������ �
	 ��
�	�� #
����
�� ��$ �����$
'	
�#���$ �
$ '��� � �#
����$ #���������$ ����	�� �� �	$ 	'��	��$ �
	
�
�� � ��#�	
 �	$ ���	��$ �����$ #� ���
	 ��
��	�� 
��
3��$ �
	 ���
2
�
�� � ��3��	�� �� �� ��%��� ���#�	 �
 �
&� ��  #%@� %�	 �� #��&��2
�
�
 	'	��	�
� �� #�#��
����
 ����
� �	 � �
�	��� 
�	3��� ���
	 '	
��	���
�
	 �%�� � �����	���
 k ��� �/��$ >+��A? ���
	 
#�'�����

9 &
�	��  #%3���� �
	 
 �% #� ���� #�
��
�	�%���
 � �&
���	 � ��2
�
	 %�	 
 ��$ �	 ��
��	�� 
��
3��$ 	'	�� �
�����	$ ���� >+���? �	 �#���$
���
�
�� � ��3��	�� �� �� ��%��� ���	�� 3
 ���
	 ��
�����$ 
#% �� $ ��
��
��	��/$ %�� $ ��	$ �0	�
��	$ 
���'�
��$ '	�� ��$ �
	 3
 #���/@�	
�	
 ���	�� ���������$ �/�� ��$ ���	��$ ����	��$ ����$� B��
 ���	����
���	'� 
 ��$ ��$  #%3���$ ���
	 � /#
�0� ��%$ �
3��	����� � �%�� >�
� �#
��/$ ����� ? �	
 �	$ f �
	 g�

-�
���
�
	
����
$� �� 
 �� ��� ��%���
 
�
�
�/@
�� �	$ � �3�2
��$ �	
 �� ����
�	��% ���	�
� ����
� 
#% ���
�	���/$ 
���'�
��$
'	�� ��$ ���
0/ '/� �	'
� &���	 �� � ����
��$ >+��?� �#
�
�
�&�2
�� �� �	$ � �3���$ 
 ��$ �
	  #��3 ��)� �� %�	 %��$ �	 #
������	 ���
	
 #����	�����$ ��� ����	�� ���� (u0, v0)�

fu + gv < 0,

fugv − fvgu > 0,

fu + gv > 0,

(dfu + gv)
2 − 4d(fugv − fvgu) > 0.

>+���?

�	 #
������	 fu �
	 gv 3
 #��#�	 �
 ���
	 ����%����$ �
	 ��� ��� ��
�	
 #
��'�	��
 fu > 0 �
	 gv < 0 
#% �	$ #
�
#��� �����	$ 3
 #��� ��
d > 1�



�� �� �����
��� ������� ��� ���������	� �	
���

#�+� &�����
�� '�	
�	��� ��
���
��� ��	��� �� ���
� ��
�� &����	��
� �
����
�

� ���#%$ �
$ ���� ��%���
 
 �� ���
	 �
 ��
��%�� �� �� '	
'	�
��

#� #��	���@
�� ���� #�����/���� ��%���
 �
	 �
 �0��� �� �	$ � �3�2
��$ ���� 
#% �	$ �#���$ �� �/����
 #� #��	�����	 ��� 
�����#�'�
��
�	�����	��$ 2 (�
#�)	��$ '�
����	%���
$ U(x, t)� V (x, t) 
������	�
�
�#���� �
 �'�����	 �� ����
�	��% ����
�� (� #
�
#��� ������� %#�$
#��	���@
�� ���� ��%���
 = �#���� �
 #��	��
��� 
#% �� #
�
���� �/2
����
 
���'�
��$ '	�� ��$4

∂U

∂t
= δpqUV − C(U) + DU∇2U

∂V

∂t
= AV (1 − V

K
) − pqUV + DV ∇2V

>+��!?

x ∈ Z = [0, a] � U(x, 0), V (x, 0) '�����
�

∇U = ∇V = 0 �	
 x = 0, a

%#� A� B� δ� p� q� 3��	��$ ��
3���$ %#�$ 
 ��$ ��� � #��	��
��� ���
#�
�� �����
	�� DU � DV �	 � ��������$ '	�� ��$ ��$ (�
#�)	��$ �
	
��$ �	�����	��$ '�
����	%���
$ 
������	�
�

9 � ������� C(U) ���
	 � � ������� �%��� $ �	
 ��� (�
#�)	��
'�
����	%���
 �	
 ��� �#��
 	��/�	 � ����� C(U) = C(U)U %#� C(U)
� � ������� ���� �%��� $ �	
 ��� (�
#�)	�� '�
����	%���
� �	
 ��
������� �
$  #�3��� �� %�	 � ����� ��$ C(U) ���
	 #
�
&��� >C(U) =
b1U

2 + b2U + b3, b1 > 0?� �	
 
#��/��� �� ��� ����� �� � ����
��$
#�������� ��	$ 
�%�� 3�$ 
��	�
�
�����	$4

v =
V

K
� u =

pqU

A
� t∗ = At � x∗ = x(

A

DU

)1/2

d∗ =
DV

DU

�� �	$ #
�
#��� 
��	�
�
�����	$ �
	 #
�
���#���
$ �� $ 
�������� $
�	
 
#��/��� �� ��� � �&��	��
� �� �/����
 �����
	4

∂u

∂t
=

δpqK

A
uv − c(u)

A
u +

∂2u

∂x2

∂v

∂t
= v(1 − v − u) + d

∂2v

∂x2

>+��,?

x ∈ Z1 = [0, p] � u(x, 0), v(x, 0) '�����
�

∇u = ∇v = 0 �	
 x = 0, p

L$ ����	��$ ����	$ �� � ����
��$ #���/#�� � �
 �����
4



���� ��������� 
�
��
��� ���������	� �	
��� ��

>�? (0, 0)4��'��	�� � ��������� �	�����	��$ �
	 ��
#�)	��$ '�
2
����	%���
$�

>�? (0, 1)4 
#� ��
 ��
#�)	��$ '�
����	%���
$ �
	 � �	�����	�� '�
2
����	%���
 �� � ��������� ��� �� �� ���� �
 	�
�%���
 �� 
����� 

>!? (1−v0,
c(u0)
δpqK

)4� �/#
�0� �	�����	��$ �
	 ��
#�)	��$ '�
����	%2
���
$ ��� v0 < 1�

-���� 3
��
$ �� � �&��	��% ��$ #�����/����$ #
�
����� ��� 2
��4

f(u, v) =
δpqK

A
uv − c(u)

A
u

g(u, v) = v(1 − v − u)

�
	

fu =
δpqK

A
v − (c(u))′

A
u − c(u)

A

fv =
δpqK

A
u

gu = −v

gv = 1 − 2v − u

-��	�� �����
 �� �/����
 
#� ��
 '	�� ��$� ��
��	��#�	
 �/��

#% ��3� ����	�� ����4

• (u0, v0) = (0, 0)

w =

(
u − 0
v − 0

)
�
	 �	
 |w| �	��% ��� �� wt = Aw %#� 

A =

(
fu fv

gu gv

)
(0,0)

=

( −c(0)
A

0
0 1

)
.

H���� �� �/��	$ ��$ �����$ w 
������ �� eλt %#� λ �	 	'	�2
�	��$ �� #��
�
 A '��� ��� �� |A − λI| = 0 �
	 �	 	'	��	��$

���
	 λ1 = 1 �
	 λ2 = −c(0)
A

� ��� ������� �
$ c(0)
A

> 0 '���
λ2 < 0 < λ1 �� λ1, λ2 ∈ R �#%�� ��� ������ (0, 0) �� �/����

#
�� �	�)�	 �
��
�	�% ������ #� ���
	 #���
 
��
3�$�

• (u0, v0) = (0, 1) �� '	
'	�
��
 %��	
 �� ��� #�����/���� �	

	'	��	��$ �� #��
�
 A ���
	 λ1 = −1 < 0 �
	 λ2 = δpqK−c(0)
A

�
�/����
 �� �� ������� �
$ � %��$ δpqK ���
	 �
 ���'
 �	
$ ��2
��'
$ (�
#�)	��$ '�
����	%���
$ 
#% � >� ���� �
 	�
�%���

�� ����� ? ����'�$ �	�����	��$ '�
����	%���
$ #� �#���/��
�
  #�3��� �� %�	 3
 ���
	 ���
�/���
 
#% �� ���� �%���$ ��$



�� �� �����
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function pdex4

format long; m = 0;p=30^0.5;

x=linspace(0,p,30);

t=linspace(0,100,10);

sol = pdepe(m,@pdex4pde,@pdex4ic,@pdex4bc,x,t); u1 = sol(:,:,1);

u2 = sol(:,:,2);

%%%%%%%%%%%%%%%%%%%%%%%

u11 = sol(1,:,1); u12= sol(2,:,1); u13= sol(4,:,1); u14=

sol(6,:,1); u15 = sol(8,:,1); u16 = sol(10,:,1);

%%%%%%%%%%%%%%%%%%%%%%%

u21 = sol(1,:,2); u22= sol(2,:,2); u23= sol(4,:,2); u24=

sol(6,:,2); u25 = sol(8,:,2); u26 = sol(10,:,2);

%%%%%%%%%%%%%%%%%%%%%%%%%%%%%

u10=0.20; u20=1.0-u10; ustable1=ones(30,1)’*u10;

ustable2=ones(30,1)’*u20;

%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%5

e1=sign(u11-ustable1); e2=sign(u12-ustable1);

e3=sign(u13-ustable1); e4=sign(u14-ustable1);
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e5=sign(u12-ustable1); e6=sign(u12-ustable1);

e=zeros(6,30); e(1,:)=e1; e(2,:)=e2; e(3,:)=e3; e(4,:)=e4;

e(5,:)=e5; e(6,:)=e6;

area(e’) title(’Solution u, epsilon=0.01’); colormap summer pause

plot(x,e1,’-og’,x,e2,’-.b’,x,e3,’--r’,x,ustable1-ustable1,’-k’);

title(’Solution u, epsilon=0.01’); axis([0,30^0.5,-1,1]); pause

plot(x,e3,’-og’,x,e4,’-.b’,x,e5,’--r’,x,ustable1-ustable1,’-k’);

title(’Solution u, epsilon=0.01’); axis([0,30^0.5,-1,1]); pause

%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%

plot(x,u11,’-og’,x,u12,’-.b’,x,u13,’--r’,x,u14,’-y’,x,ustable1,’-k’);

h=legend(’t=0’,’t=20’,’t=40’,’t=60’,’u=u_0’,4); title(’Solution u,

epsilon=0.01’); xlabel(’Distance x’); axis([0,30^0.5,0.17,0.23]);

pause

plot(x,u14,’-og’,x,u15,’-.b’,x,u16,’--r’,x,ustable1,’-k’);

axis([0,30^0.5,0.17,0.23]);

%axis auto

h=legend(’t=6’,’t=8’,’t=10’,’u=u_0’,4); title(’Solution u,

epsilon=0.01’); xlabel(’Distance x’); pause

%figure

surf(x,t,u1); view(0,0); title(’Solution u, epsilon=0.01’);

xlabel(’Distance x’); colormap hsv

axis([0,30^0.5,1,100,0.1899,0.211]); pause

%plot(x,u13,’-’,x,u14,’--’,x,u15,’.-’,x,ustable1,’.-.’);

%axis([0,30^0.5,0.199,0.201]);

%pause

%plot(x,u1,’-’,x,u2,’--’,x,u3,’.-’,x,ustable,’.-.’);

%axis([0,30^0.5,0.199,0.201]);

%plot(x,u1,’-’,x,u2,’-.’);

%u1,u4

%title(’u1(x,t)’);

%xlabel(’Distance x’);
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%ylabel(’Time t’);

plot(x,u21,’-og’,x,u22,’-.b’,x,u23,’--r’,x,ustable2,’-k’);

axis([0,30^0.5,0.78,0.82]);

%axis auto

h=legend(’t=0’,’t=2’,’t=4’,’v=v_0’,4); title(’Solution v,

epsilon=0.01’); xlabel(’Distance x’); pause

plot(x,u24,’-og’,x,u25,’-.b’,x,u26,’--r’,x,ustable2,’-k’);

axis([0,30^0.5,0.78,0.82]);

%axis auto

h=legend(’t=6’,’t=8’,’t=1’,’v=v_0’,4); title(’Solution v,

epsilon=0.01’); xlabel(’Distance x’); pause

%figure

surf(x,t,u2); view(0,0); title(’Solution v, epsilon=0.01’);

xlabel(’Distance x’); axis([0,30^0.5,1,100,0.785,0.815]);

%plot(x,u2,’--’);

%title(’u2(x,t)’);

%xlabel(’Distance x’);

%ylabel(’Time t’);

% --------------------------------------------------------------

function [c,f,s] = pdex4pde(x,t,u,DuDx) c = [1; 1];

%d=25;

%D1=1;

%D2=d;

%f = [D1; D2] .* DuDx;

%%a=11.0/9.0;

%%b=0.25;

%F1 = (5)*u(1)*u(2)-(5)*(a*(u(1)-0.5)^2+b)*u(1);

%F2 = (1-u(1)-u(2))*u(2);

%a=99.3/11786.91;b=100-a*11881;

%F1 = (14)*u(1)*u(2)-(14)*(a*(u(1)-10)^2+b)*u(1);

%F2 = (1-u(1)-u(2))*u(2);
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%s1=u(1)^2;

%F1=1*(a-u(1)+(s1)*u(2));

%F2=1*(b-(s1)*u(2));

%%%%%%%%%%%%

a=35.0/392.0; d=6.0; D1=1.0; D2=d; f = [D1; D2] .* DuDx;

b=1.0/10.0; F1 = (7.9)*u(1)*u(2)-(7.9)*(a*(u(1)-3.0)^2+b)*u(1); F2

= (1.0-u(1)-u(2))*u(2); s = [F1; F2];

% --------------------------------------------------------------

function u0 = pdex4ic(x); u0 =

[0.2+(0.01)*cos(pi*x/30^0.5);0.8-(0.01)*cos(pi*x/30^0.5)];

%u0 = [0.20+(0.01)*cos(pi*x/30^0.5);(1.0-0.20)+(0.01)*cos(pi*x/30^0.5)];

%u0=[1;0];

% --------------------------------------------------------------

function [pl,ql,pr,qr] = pdex4bc(xl,ul,xr,ur,t) pl = [0; 0]; ql =

[1; 1]; pr = [0; 0]; qr = [1; 1];
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�� ��	$ #�����/����$ ��%����$ #�$ � ����
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*	�� ��$ �� � ���	
��$ � �3���$ ��'��	��$ ���$ 3
 �#���/�
� �
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�	� ����� � ��
 #��/�	� ����
 ���	�
� ����
� ��� �	 #
�������	 �
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�����	$ f(u, v) �
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�� ��� kinetics
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 3������ �� �� ���	�% ����'	���
�� �/����
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��$
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ut = f(u, v) + D1uxx

vt = g(u, v) + D2vxx>1��?

�� 
��	��$ � �3���$ �
	 � ���	
��$ � �3���$ ��'��	��$ ���$4

ux(0, t) = ux(1, t) = vx(0, t) = vx(1, t) = 0

u(x, 0) = u0(x)>1��?

v(x, 0) = v0(x)

%#� u′
0(x) �
	 v′

0(x) ���
	 ��'�� �	
 x = 0 �
	 x = 1� ���)� �� ��

� ������� ������	
$ E 
$ �0�$4

>1�!? E(t) =
1

2

∫ 1

0

(u2
x + v2

x)dx.
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dE

dt
=

∫ 1

0

(uxuxt + vxvxt)dx

= [utux + vtvx]
1
0 −

∫ 1

0

(uxxut + vxxvt)dx

= −
∫ 1

0

(uxx(f + D1uxx) + vxx(g + D2vxx)

= −[ux(f + D1uxx) + vx(g + D2vxx)]
1
0+

+

∫ 1

0

(ux(f + D1uxx)x + vx(g + D2vxx)x)dx

= [uxD1uxx + vxD2vxx]
1
0 −

∫ 1

0

(D1u
2
xx + D2v

2
xx)dx+

+

∫ 1

0

[fuu
2
x + gvv

2
x + (fv + gu)uxvx]dx

≤ −
∫ 1

0

(D1u
2
xx + D2v

2
xx)dx+

+

∫ 1

0

[fuu
2
x + gvv

2
x +

1

2
(fv + gu)(u

2
x + v2

x)]dx

%#� ��	$ #
�
#��� �����	$ ��� �� ��&�	  #%@� �	$ � �3���$ ��'��	��$
���$�

(
�
 ���)� �� �	$ #��%����$

>1�,? d = min(D1, D2) � m = max
u,v

(f 2
u + f 2

v + g2
u + g2

v)
1/2,

�%�� ��� ��

dE

dt
≤ −d

∫ 1

0

(u2
xx + v2

xx)dx + 4m

∫ 1

0

(u2
x + v2

x)dx

≤ (4m − 2π2d)E,

>1�+?

%#� �������#�	��
�� �� �����

>1�6?

∫ 1

0

u2
xxdx ≥ π2

∫ 1

0

u2
xdx
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������
 M�N�
-#% ��� 
�	�%���
 >1�+? &��#� �� %�	 ��� � ����	���$ � ��������$
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(4m−2π2d) < 0 �%�� dE

dt
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���	 %�	 E → 0 �
3
$ t → ∞

'�'����� %�	 E(t) ≥ 0� -#% ��� ��	��% �� E(t) 
 �% � ��#����
	 %�	



�� �� �
�
 � ��
���� �	
��� ��

ux → 0 �
	 vx → 0 '��
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>1�1? ut = f(u) + D∇2u,

%#� u� �� � ����
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� ������
���� ��� #��3 ��
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�
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 �� u ���
	4

(n · ∇)u = 0� ��� ∂B � u(r, 0) = u0(r),

%#� n ���
	 �� ���
'	
�� �
���	�% '	�� ��
 ��� ∂B � B�#�$ #�����/2
���
�  #�3��� �� %�	 %��$ �	 �/��	$ u ���
	 ��
�����$ �	
 ��3� t ≥ 0�
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��	�� 
 �% �0
��
��)��
	 ���  #����	 ��
 #��	��	����� �/���� �	

�
 kinetics 
���'�
��$�

(
�
 ���	��/� �� ��� #�����/���� 
��� ��� ���)� �� ��� ������	

E(t) �$

>1�5? E(t) =
1

2

∫
B

‖∇u‖2dr,

%#� � �%��


>1�7? ‖∇u‖2 =
n∑

i=1

|∇ui|2.
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>1��A? m = max
u

‖∇uf(u)‖,

%#� u #
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$ ��� E(t)� ��� ����� >1�5? �
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dE

dt
=

∫
B

〈∇u,∇ut〉dr

=

∫
B

〈∇u,∇uf + ∇D∇2u〉dr

=

∫
B

〈∇u,∇D∇2u〉dr +

∫
B

〈∇u,∇uf · ∇u〉dr

=

∫
∂B

〈u, D∇2u〉 −
∫

B

〈∇2u,∇2u〉dr +

∫
B

〈∇u,∇uf .∇u〉dr

≤ −d

∫
B

‖∇2u‖2dr + mE.
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|∇2u|2dr ≥ µ
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‖∇u‖dr,
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∇2φ + µφ = 0 � (n.∇)φ = 0 r ��� ∂B,
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, �#�
�
� Fisher - Kolmogorov ��� �� �"
���

�� ����
 ������������ �������

D����/�� ��� �0�����

>-8��?
∂U

∂t
= kU(1 − aU) + D

∂2U

∂x2

D��� �� t∗ = kt� x∗ = x( k
D

)1/2 �
	 #
�
���#���
$ �
 O �	
 
#��/��� ��
��� � �&��	��
� #
���� �� ��� �0����� 4

>-8��?
∂U

∂t
= U(1 − aU) +

∂2U

∂x2
.

�	 ��������$ #��	#�
��	$ �	
 ��� #
�
#��� �0����� ���
	 �	
 U = 0 �
	
U = 1

a
#� ���
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3�$ �
	 ��
3��� 
������	�
� - �% � ��#����
	 %�	

3
 #��#�	 �
 @�0� �� �	
 �/��	$ �� � �
�	�� ����� traveling wavefront
solytions �	
 �	$ �#���$ 0 ≤ U ≤ 1

a
>U < 0 '�� ���	 �%��
 �	
 ��

#�%&���
?� ���  #����	 �	
 �/�� �� ����� ���
'	'%���� �/�
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 ��
�#���� �
 ��
���� ��� ����� U(x, t) = u(z) �� z = x − ct %#� c
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�/���
 �� �/�
��$� �#�	'� � >-8��? '�� �#����)��
	 ��� x �→
−x � 3
 �#���/�� �� c �
 ���
	 
����	�% � 3��	�%� D����/�� c ≥ 0�

��	�
3	���/�� ��� >-8��? �
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>-8�!? u′′ + cu′ + u(1 − au) = 0

%#� u′ = du
dz
� �	
 � #	�� � �
���	'� �/�� ��� �� %�
� limz→∞ u(z) = 0

�
	 limz→−∞ u(z) = 1
a
� D
 �������� �� ��� >-8�!? �	
 u ��� (u, v)

�#�#�'� ����$ %#� u′ = v� v′ = −cv − u(1 − au) #� '���	 �	$ ����	�$
�� �#	#�'� ����$ �$ �/��	$ �� 

>-8�,?
dv

du
=

−cv − u(1 − au)
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 >singular points? �	
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�� �!� � � ����� FISHER - KOLMOGOROV
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��� � �
���	'� �/�� �� c2 > 4���#��4� �
���	'�$ �/��
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 ��� �0����� Fisher - Kolmogorov �� c > 2�

�	
 �� ������ (0, 0)4
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2
[−c ± (c2 − 4)1/2]
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��
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a
, 0)4

>-8�6? λ± =
1

2
[−c ± (c2 + 4)1/2]
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�!� � � ����� FISHER - KOLMOGOROV ��

��� c ≥ cmin = 2 �� (0, 0) ���
	 ��
$ ��
3��%$ �%�&�$ stable node�
�	'	�%���
 � #���#���� %#� c = cmin = 2 '���	 ��
� �3�����
 �%�&�
node�

��� c2 < 4 �� (0, 0) ���
	 stable spiral '��
'� ��� ��	���	� �� (0, 0)
� U �
�
��
���
	� "���	��#�	
��
$ �#	��	���
�
 � ����	
$ � 
#% ��
����
 ��� ����	
� ��� �#�#�'� ����$�  #����	 �	
 ����	� 
#% �� ( 1

a
, 0)

��� (0, 0) #� ����
	 �0B �������� ��� ���
����%�	� U ≥ 0� U ′ ≤ 0�
�� 0 ≤ U ≤ 1

a
�	
 %��$ �	$ �
�/����$ ��� � ������ �� c ≥ cmin =

2� �� %�� $ ��$ 
��	��$ �0�����$ >-8��? �	 �
�/����$ ��� � �����
	�
��#�	�/�

>-8�1? c ≥ cmin = 2(kD)1/2.

��� ����
 �
����
	 ��
 � #	�� �/�� �� ����� tralelling wave� F#���� �
�/��	$ �� ����� tralelling wave �
	 �	
 c < 2 
��� ���
	 ����$ #�
��
�	2
��$ ��
�����$ �
3
$ u < 0� �	
 ��#�	
 z� �	
�� �� 
 �� ��� #���#����
u ����	 �#	��� �/�� 
#% ��� 
��� ��� 
0%���� �� 
 ��$ �	$ #��	#�
��	$
� u �����	 ��� A ���� � ��
��� %��� �� �3��� ��$ �
�
��
��	$ �/�� 
#%
�� u → 0�

�	
 ��
���� ���	'� �� 
 �% �� ���'	� ���
	 �	 ��'� $ 
��	��$ � �3�2
��$ U(x, 0) �	
 ��� 
��	�� �0����� Fisher-Kolmogorov >-8��? 3
 ��� �
�$ 
#�������
 �/�� �� ����� '	
'	'%���� �/�
��$ >travelling wave?
�
	 ��� �	
 ����	
 �/��  #����	� #�	
 ���
	 � �
�/���
 �� �/�
��$ c�
- �% �� #�%&���
 �
	 �	 ���	��/��	$ �� ��� � ������3�� 
�
� �	��� �
Kolmogorov et al. (1937) 
#�'�	0
� %�	 ��� U(x, 0) ���	 � �#
�� ����
�
'��
'�

>-8�5? U(x, 0) = U0(x), U0(x) =

{
1, x ≤ x1P
0, x ≥ x2�

%#� x1 < x2 �
	 u0(x) ���
	 � ����$ ��� '	�����
 x1 < x < x2�
�%�� � �/�� u(x, t) ��$ >-8��? #���/#��	 �
 ���
	 �	
 � �
���	'�$ �����
>wavefront solution? u(z) �� z = x− 2t� *��
'� #���/#��	 �/�
 �� ���
����	��� �
�/���
 c = 2� �	
 
��	��$ � �3���$ '	
�����	��$ 
#% ���
>-8�5? � �/�� �#�����)��
	 �
3��	��	�� 
#% �� � �#��	���� ��$ U(x, 0)
�
3
$ x → ±∞�>&�� Murray 2002 VII Ch13.2?
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 ����
� �������� ��
��

������� ���	�� 
 �%����$ 2�s ��0�$ � ��3�	$ '	
���	��$ �0	�
��	$
��$ �����$

>:8��?
dx

dt
= f(x, y) �

dy

dt
= g(x, y)

�	 �	������ ��
�� � �����$� ��
�� ��$ >:8��? ���
	 �/��	$ ��$

>:8��?
dx

dy
=

f(x, y)

g(x, y)

�	
 ��3� ������ (x0, y0)  #����	 ���
'	�� �
�#/�� ����$ ���%$ 
#%
�
 ���
����	 
����	 �singular points� �	
 �
 �#��
 	��/�	 f(xs, ys) =
g(xs, ys) = 0�

��� ��	#%� 3��� �� x → x − xs� y → y − ys� �%�� �(0, 0) ���
	 ��

	'	%����� ������ ��$ ���
����
�	�����$ �0�����$� B���	 ����$ &��&�
��$ ���	�%���
$ 3����/�� ��� >:8��? �
 ���	 ��
 	'	%����� ������ ���
(0, 0)� D����/�� f � g �
 ���
	 
�
� �	��$ �/�� 
#% �� (0, 0) �
	 ��
2
�
��
$ �%�� �� $ ��
��	��/$ %�� $ #
���� ��

>:8�!?
dx

dy
=

ax + by

cx + dy
%#� � A =

(
a b
c d

)
=

(
fx fy

gx gy

)
(0,0)

9 #
�
#��� ��
��	�� ����� ���
	 	��'/�
�� �� �� �/����


>:8�,?
dx

dt
= ax + by �

dx

dt
= cx + dy

�	 �/��	$ �� >:8�,? '��� � ��� #
�
����	�� ����� ��� �
�# �
� ����$
�$ #��$ t� B���� λ1 �
	 λ2 �	 	'��	��$ �� A '��
'�

λ1,2 =
1

2
(a + d ± [(a + d)2 − 4 det(A)])1/2

(%�� �	 �/��	$ �� >:8�,? ���
	

>:8�+?

(
x
y

)
= c1v1 exp[λ1t] + c2v2 exp[λ2t]

%#� c1 �
	 c2 ���
	 
 3
�����$ ��
3���$ �
	 v1� v2 ���
	 �
 	'	�'	
�/��
�

�� A #� 
��	���	�� � ��	$ 	'	��	��$ λ1 �
	 λ2 �
	 '�����
	 
#% �	$

��



�� �!� ������� �
�
���� �����

�����	$4

>:8�6? vi = (1 + pi)
−1/2

(
1
pi

)
� pi =

λi − a

b
� b 
= 0 � i = 1, 2.

�� 
#
��	�� �� t ���� >:8�+? #
���� �� �	$ �
�#/��$ ����$ ��� (x, y)
�#�#�'��

����	
�� �� %�	 � ����� ��$ >:8�+? ���
	 �	
 '	
����	����$ 	'	��	��$�
��� �	 	'	��	��$ ���
	 ���$ �	 �/��	$ ���
	 
������$ �� (c1 + c2t) exp(λt)�

.�������� /�	���
���0 
�
���	�
�� /linear singulari-
ties0 ��� �'�'��� ���
��

(i) λ1 �λ2 ���
	 #�
��
�	��$ �
	 '	
����	����$4

(a) λ1 � λ2 ���
	 ��%����$� �	 � #	��$ 	'	��	��$ v1 �
	 v2 #
�� �	�2
)���
	 ��� ����
 �� -$  #�3��� �� %�	 λ1 < λ2 < 0� -#% ��� >:8�+?�
��3� �/�� �����	 ��� (0, 0) �
3
$ t → ∞ �
	 ��� exp[λ2t] = o(exp[λ2t])
�
3
$ t → ∞� ��
(

x
y

)
∼ c1v1 exp[λ1t] �
3
$ t → ∞

B���	 
����� ����
 ���� 
��� ��� 
0%��� %��$ �	 �/��	$ ����� � ���
0 �
�� ����$ �� v1 %#�$ �
����
	 ��� ����
� - �� �����)��
	 
�
��
��	��� ���1�� >node singularity? �/#� =� ��� ��� λ1 < λ2 < 0
stable node �
3
$ %��$ �	 ����	�$ ����� � ��� (0, 0) �
3
$ t → ∞�
��� λ1 > λ2 > 0 ��� 
��
3� �%�&� >unstable node?� �'
 (x, y) →
(0, 0) �
3
$ t → ∞�

(b) λ1 �
	 λ2 ���
	 ����%����$ #��� λ1 < 0 < λ2 �%�� exp[λ1t] → 0
�
�� ����$ �� v1 �
3
$ t → ∞ ��
 exp[λ2t] → 0 �
�� ����$ �� v2

�
3
$ t → −∞� F#���� � �
�� � ��#�	
 '	
�����	��$ �
�� 3/���	$
��
 v1 �
	 v2 � �	 �/��	$ �/�� 
#% �� (0, 0) ���
	 %#�$ �
�����
	 ���
����
� - �� ���
	 �	
 
�
���	��� ������
�� �
����� >saddle
point singularity? � �#��
 ���
	 #���
 
��
3�$4 ���%$ 
 ����� �
��
����$ �� v1 ��3� �	��� '	
�
�
�� 
#% �� (0, 0) ���
�
��	 ��3��	���

(ii) λ1 �
	 λ2 �	�
'	��$4 λ1 � λ2 = α ± iβ� β 
= 0�

�	 �/��	$ �'
 #��	��� � �$ #
�������$ �� $ %�� $ exp[αt] exp[±iβt]
#�  #�'��
��	 �
�
����	�� #������	�� ��� (0, 0)� (a) α 
= 0� �'

��� �� �'�
	��
��� >spiral? �� �#��� ���
	 ��
3��% >stable? ��� α < 0
�
	 
��
3�$ >unstable? ��� α > 0� ����


(b) α = 0� �� 
 �� ��� #���#���� �	 �
�#/��$ ����$ ���
	 �����@�	$�
- �� � 	'	������
 �
����
	 ����	� >����
?� (
 �����
 #���#���� '��



�!� ������� �
�
���� ����� ��

���
	 ��
3��� >stable? �� �� � ��3� ����	
� '��
'� �	
 �	��� '	
�
�
��

#% ��� �
�#/�� ����$ '�� �&���	 
��� �
 �#
���3� �� ���� 
��	��
�� '	
�
�
����� �
�#/��� 9 '	
�
�
�� 
#�
$ '���	 �	
 ���� �/��� ����
#���#���� 	'	�����	
� ������ #� ���)���
	 
#% �� ��
��	�� #�����2
�	�� ��	$ f(x, y)� g(x, y)� #��#�	 �
 ��	��0� �� ��� $ %�� $  @��%����$
��0�$ >
#% �� $ ��
��	��/$? �	
 �
 �
3����� �� ��� ��� �� %���$ �
%�	 spiral �
	 �
�� � ��#�	
 ��� 
 �% ���
	 ��
3��% >stable? � 
��
3�$
>unstable?�

(iii) λ1 = λ2 = λ� �'
 ��� �� ���$ 	'	��	��$�

(a) ���	�� �	 �/��	$ #��	��� � %�� $ %#�$ t exp[λt] �
	  #����	 �%��
��
 	'	�'	�� ��
 v �
�� ����$ �� �#��� �	 �/��	$ ����� � ��� (0, 0)� (�
t ��� t exp[λt] ���#�#�	�� �� �/�� �
��	� 
#% �� (0, 0)� - �% �����)��
	
	'	������
 ���1�� � '�� 2 >node Type I singularity? �	
 #
����
��
��$ �#��
$ '����
	 ��� ����
�

(b) ��� �	 �/��	$ '�� #��	��� � ��� %�� t exp[λt] ��� �� �	
 �����
	��
�� 
�
���	��� >star singularity?� #� �
 ���
	 stable � unstable
�
	 
 �% �0
����
	 
#% �� #�%���� �� λ� �	 ����	�$ �� �	
 ��	���	�
��$ 
������	'�/$ 	'	������
$ �
�����
	 ��� ����
�

�	 	'	�������$ �0
��
��
	 
#% �
 ���	���
 a,b,c,d �� #��
�
 A �� 
� ����
��$ >:8�!?� (� ����
 >:8��? >��� A.1 �
	 A.2 Murray 2002
VOLI ���� +A! �
	 +A,? � ��@�)�	 �
 
#�������
�
 �� ����� �� ��
����$ �
	 ��� ���)� �
 �� A�

��� �� �/����
 >:8��? �
����	 ��
 #��	��	����� �/���� >'��
'� ��

����� ��� �/���� ∂B �� �#��� �� '	�� ��
 (dx/dt, dy/dt) '�����	
#��$ �� ������	�% �� ����� ?� #� ��#��	���	 ��
 �
	 �%�� 	'	%�����
������ �� �#��� ���
	 unstable spiral � node� �%�� �
��
 ����	� ����$
'�� �#���� �/�� �
 �����	 ���� 	'	������
 �� �� ��%��� �/�� �
 
����	
�� #��	��	����� �/����� (� D�
���
 Poincare -Bendixson ���	 %�	 %�	
�
3
$ t → ∞ � ����	� 3
 �����	 �� �	
 ��	
�� � ��	�� �/��� - �� ���
	
� 
#��/����� ��
����� �� D�����
��$� ��� � �%�� 	'������
 ���
	
��
 �
��
�	�% ������ �%�� ��
$ ��	
�%$ �/���$ '�� �#���� �
  #����	�
>Jordan �
	 Smith 1999?�
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�
� ��
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��� �� ��� �#	2
#�'�� ����$���#��4� ��#�	�% '	���
��
 #� '�����	 #�$
tr(A) �
	 det(A) �
3���)� � ��� �/#� ��$ ��
��	��$ 	'	�2
�����
$ �� �#	#�'� ����$ �	
 �� �/����
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+����� �������
���� ��� �� !����
����

����
�
 
� 
�����
 �����

B���� � ������� u(x)4 R → R �� u(x) = 0 �	
 x = 0 � x = 1� 9
� ������� u 	�
��#�	��4

>�8��?

∫ 1

0

u2
xxdx ≥ π2

∫ 1

0

u2
xdx.

D
 
#�'��0� �� %�	 �
	 �� #	� ���	�% 
#�������


>�8��?

∫
B

|∇2u|2dr ≥ µ

∫
∂B

‖∇u‖2dr

%#� : ���
	 ��
 #�#��
����� ����� #� #��	�
�&����
	 
#% �	
 
#��
� ����	�� �#	����	
 �� 	��/ � �3��
� ��'��	��$ ���$ >Neumann? '�2
�
'� n · ∇u = 0 %#� n ���
	 �� ���
'	
�� �
���	�% '	�� ��
 ��� ∇B�
���� >�8��?� µ ���
	 � �	��%���� 3��	�� 	'	��	�� �� �� ∇2 + µ ��� B
�� � �3���$ Neumann ��� ∇B �
	 %#� ‖ · ‖ � �&���)�	 �	
 � ����'	

C%��
 � �	
 #
��'�	��
�

‖∇u‖ = max
r∈B

[∑
i,j

(
∂ui

∂uj

)2
]1/2

r = (χj)� j = 1, 2, ...., n.

D
 
#�'��0� �� #�
�
 �� ����� >�8��? � �#��
 ����	
�� �� ���
	
�	'	�� #���#���� ��$ >�8��? %#� u &
3���% �
	 r ���
	 ��
 ����'	���
��
���	�� ���
&�����

B���� w(x) �	
 &
3���� � ������� �	
$ ���
&����$ xεR � �#��

'����
	 
#% �� �����

>�8�!? wxx + µw = 0.

� �&���)� �� �� µ �� ���	�� 	'	��	�� �	
 �/��	$ ��$ #
�
#��� �0�����$
#� 	�
��#�	�/� � ���	
��$ � �3���$ Neumann� '��
'�

>�8�,? wx = 0 �	
 x = 0, 1.

�	 ��3��
�	�$ 	'	�� �
�����	$ {φk(x)} �
	 	'��	��$ {µk} %#� k =
0, 1, 2, .... �	
 �	$ �0	�
��	$ >�8�!?� >�8�,? ���
	

>�8�+? φk(x) = cos µ
1/2
k x � µk = k2π2 � k = 0, 1, 2...

��



�� �!� ������ �
	��������� ��� �	 ��
������	 �������

��3� � ������� wx �� �	$ #
�
#��� 	'	%����$� #� 	�
��#�	�� �	$
� �3���$ ��'��	��$ ���$ >�8�,? �#���� �
 ��
���� �$ 
��#� ��
 �� ��	��
��� 	'�� �
�����
� ��$ φk(x) >
��#� ��
 Fourier? %#�$ �#���$ �
	 �	
#
������� ��$� �	$ �#���$  #�3��� �� %�	  #���� �� B����

>�8�6? wxx(x) =
∞∑

k=0

akφk(x) =
∞∑

k=0

ak cos(kπx)

%#� 

ak = 2

∫ 1

0

wxx(x) cos(kπx)dx � k > 0

a0 =

∫ 1

0

wxxdx = [wx(x)]10 = 0

(%��� �������
����
$ ��� >�8�+? ��� ��

wx(x) =

∫ x

0

∞∑
k=0

ak cos(kπz)dz =

=
∞∑

k=0

∫ x

0

ak cos(kπz)dz =

=
∞∑

k=1

ak

kπ
sin(kπx)

�#%��

w(x) =

∫ x

0

wz(z)dz =
∞∑

k=1

(−ak

µk

φk(x) − ak

µk

)

%#� ��� �� ��&�	  #%@� %�	 a0 = 0�



�!� ������ �
	��������� ��� �	 ��
������	 ������� ��

(%�� 	��/� � �	 #
�
����  #����	����4

∫ 1

0

w2
xdx = [wwx]

1
0 −

∫ 1

0

wwxx = −
∫ 1

0

wwxx

=

∫ 1

0

∞∑
k=1

ak

µk

cos(kπx)
∞∑

k=0

ak cos(kπx)dx

+

∫ 1

0

∞∑
k=0

ak

µk

∞∑
k=0

cos(kπx)dx

=

∫ 1

0

∞∑
k=0

a2
k

µk

cos2(kπx)dx

=
∞∑

k=0

a2
k

2µk

∫ 1

0

(1 + cos(2kπx))dx

=
∞∑

k=1

a2
k

2µk

≤ 1

2µ1

∞∑
k=1

a2
k

=
1

π2

∫ 1

0

w2
xxdx

>�8�1?

%#� µ1 = π2 � �	��%���� 	'	��	���
9 
#%'�	0� �	
 �� ���	�%���� 
#�������
 ���
	 #
�%��	
 �� 
 �� ���

����'	���
�� #���#�����
Q
�� ���� � 
���� 3�
 {φk(r)} j = 0, 1, 2... �	 ��3��
���	��$ 	'	�2

� �
�����	$ �� 

∇2w + µw = 0

%#� w(r) ���
	 �	
 '	
� ��
�	�� � ������� ��$ ���	��$ ���
&����$
r �
	 µ ���
	 � ���	�� 	'	��	��� B���� �	 
������	��$ 	'	��	��$ �	
 ���

���� 3�
 {φk} �
 ���
	 � 
���� 3�
 {µk}� k = 0, 1, 2... �
	 '	
���� ��
�	$ 	'	��	��$ 
 ��$ 
��� µ0 = 0� 0 < µ1 < µ2...� ����	
�� �� �� 
 ��
��� #���#���� %�	 φ0 ���
	 ��
3��%�

B���� w(r) �	
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